Key stage 3 mathematics 1999
Mental arithmetic lower tier Test C

Test C

Mark scheme

Time: 10 seconds

Time: 5 seconds

1 19

2 29

3 | 90 degrees

4 2m answers given in metres.

Accept equivalent

5 3.0

Accept equivalent
answers.

Ignore any units
given.

7 | 12(.0)

Accept equivalent
answers.

8 £ 500
9 Vans Accept any indication.
10 54 %
1 -3 °C
12 | 25 minutes
13 | 15.24 m
14 | 24cm

1 Accept equivalent answers,
15 12 eg g, 1.25, 1 and a quarter

Do not accept redundant

16 £ 22 % signs, eg £22%
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Lower tier Test C mark scheme continued

Time: 10 seconds

Do not accept partial
17 4r simplification, eg 2r + 2r
18 360

Do not accept partial
19 23 evaluation, eg 28 - 5
20 | 75 degrees

Accept correct responses with commas as spacers, eg 5,047,000
21 5 047 000 Do not accept incorrect use of decimal points, eg 5047.000
Do not accept responses given in words.

Time: 15 seconds

22 30 p
23 A net formed by correctly placing one
square on the left and one square on
the right, eg
Ignore tabs.
Accept any
unambiguous
24 | o0 1| indication, eg
0.5 written.
25 | 23% < answer < 27%

26 £ 19.95
27
N I
Accept
28 indication
17 pupils that the
answer is
approximate,
< answer < eg about 23
. Do not accept
23 pupils redundant %
signs,
eg 20%
Do not accept truncated
29 14.44 values, eg 14.4
Do not accept incorrect
values, eg 14.44°
30 | 24 children
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